Macs

EQUIPMENT

Mac’s Equipment Ltd

1 JU|y 2025 3 Alison Ave, Herald Island
Auckland 0618, New Zealand
m +64 27 55 202 55
gst no. 107-578-552
Macs Load Restraint Systems il
Vehicles Bikes Off Road

Pickup and General Deck Hardware

Lgth List Incl

Product Code Colour Ft. Detail GST

Macs Hardware

Versatie Track kit#1 2.44M x 1 length 522196T 8 No rings/ screws 182.00
4 Versatie rings +

Versatie Track kit#1 2.44M x 1 length 522196S 8 screws 248.00
4 Versa tie rings

Versatie Track kit#1 2.44M x 2 lengths 522196 8 & screws 395.00

Versatie Track kit#2 2.44M x 1 length 522296T 8 No rings/screws 182.00
4 Versatie rings +

Versatie Track kit#2 2.44M x 1 length 5222965 8 screws 248.00
4 Versa tie rings

Versatie Track kit #2 2.44M x 2 lengths 522296 8 & screws 395.00

Versatie Track kit# 3 2.44M x 1 length 522396T 8 No rings/ screws 182.00
4 Versa tie rings

Versatie Track kit# 3 2.44M x 1 lengths 5223963 8 & screws 248.00
4 Versa tie rings

Versatie Track kit #3  2.44M x 2 lengths 522396 8 & screws 395.00

Versatie Track kit #4 2.44M x 1 lengths 522496T 8 No rings/ screws 182.00
4 Versa tie rings

Versatie Track kit #4  2.44M x 1 lengths 522496S 8 & screws 248.00
4 Versa tie rings

Versatie Track kit #4 2.44M x 2 lengths 522496 8 & bolts 395.00

Versatie Track 1 arrowhead 463101 29.00

Versatie Track 3 arrowhead 463007 29.00

Versatie single stud ring 310001 18.00

Versatie double stud ring 310002 30.00

Versatie double stud idler 310003 30.00

Versatie double stud pear shape ring 310004 30.00

Versatie threaded stud 310009 33.00

w/1.5" s/s
Versa tie Anchor Plate Assy 1 unit 520010 hardware 44.00




w/1.5" s/s

Versa tie Anchor Plate Assy 4 Pk 520415 hardware 175.00
Recessed D Ring 330002 23.00
Backing Plate for recessed D Ring 330002 472005 17.00
Recessed 360 Swivel D Ring 330003 50.00
Backing Plate for swivel D Ring 330003 472006 25.00
Surface mount D Ring-bolted- zp 330001 30.00
Surface mount D Ring —welded-black 330010 32.00
Idler surface mounted rectangular 4500Kg 330014 28.00
Lashing winch 4500Kg (10,000Ib) 330007 65.00
Double stud anchor plate assembly 4 pack 520315 w 1.5” ss screws 224.00
Macs Ratchet Tie Down Packs
40" through wheel
Pro Pack 511646 | Black 6 & sewn end hook 575.00
40" through wheel
Pro Pack 511656 | Black 6 & direct hook 545.00
40" through wheel
Pro Pack 512646 | Blue 6 & sewn end hook 575.00
40" through wheel
Pro Pack 512656 | Blue 6 & direct hook 545.00
Ultra Pack 511206 | Black 6 Sewn end 490.00
Ultra Pack 512206 | Blue 6 Sewn end 490.00
Ultra Pack 511216 | Black 6 Direct hook 444.00
Ultra Pack 512216 | Blue 6 Direct hook 444.00
Motorcycle Pack 510331 | Black 6 169.00
Utility Pack 510341 | Black 10 185.00
Aircraft Pack -no anchors 510911 | Black 125.00
Macs Components & Accessories
Tyre Block Strap 121810 | Black 10 Direct hook 124.00
Lasso axle strap 44” (1.12Metre) 121745 | Black 53.00
Axle straps 24" (600mm) 121724 | Black 2 42.00
Axle straps 36" (900mm) 121736 | Black 3 46.00
Axle straps 40" (1Metre) 121740 | Black 50.00
Combo Bridle Blue 2” x 48” 122937 | Blue 110.00
Strap wraps 416007 10.00
Protective fleece sleeves 32" (800mm) 416006 37.00
Ratchet Strap 2” Sewn End 121006 87.00
Ratchet Straps 2" DH 121007 | Black 6 Direct hook 75.00
Fixed End -twisted snap hook 2" 50MM x14" 121003 | Black 45.00
Direct hook conversion 421030 29.00
Running End 6 Ft 1.83M c/w twisted hook 191406 72" 42.00
Running End 8 Ft 2.4M c/w twisted hook 191408 84" 48.00
Running End 10 Ft 3.0M c/w twisted hook 191410 120” 52.00
Tyre Block only 421018 20.00
Macs utility mat-foldable 773401 1200 x 600 85.00
Large duffle bag 610014 79.00
Tow hooks 340006 15" J hook 82.00




